
 =1000= 

 9
5 

 =820= 

 =400= 
 7

20
 

 7
47

 

 =346= 

 4
25

 

 1
00

0 

 7
0 

 R150 

AA

 2
00

 

COUPE A-A
57.26.1047

57.26.1020
57.26.1049

57.26.1048

AIRLOC KSKC 2150
WASHER M16

SCREW CHC M8 x 40
WASHER L8

SPRING REF SZ8020 63 X 102
NUT H M16 WASHER M16

WASHER L10
SCREW CHC M10x45

57.26.1045

57.26.1053

57.26.1052

57.26.1050

57.26.1051

57.26.1054

57.26.1046
SWITCH XCM-A102

SCREW CHC M5x16

SCREW CHC M4x20

DRW N. QTY DESCRIPTION / REMARKS MATERIAL W./Kg

2 SCREW CHC M5x16 A4-70 0,0038
36 SCREW CHC M10x45 A4-70 0,0358
4 SCREW CHC M4x20 A4-70 0,0027
16 SCREW CHC M8 x 40 A4-70 0.0227
8 NUT H M16 ST.STEEL 0,0354
36 WASHER L10 ST.STEEL 0,0136
16 WASHER L8 ST. STEEL 0.0103
8 WASHER M16 ST.STEEL 0,0121
4 AIRLOC KSKC 2150 AIRLOC
2 SWITCH XCM-A102 TELEMECANIQUE
4 SPRING REF SZ8020 63 X 102 STEINEL 0,

57.26.1054 2 REINFORCEMENT ELBOW 2017A 0.97
57.26.1053 1 REAR RIGHT REINF. PLATE MONO2 S 235JR 22,13
57.26.1052 1 TOP RIGHT REINF. PLATE MONO2 S 235JR 22,13
57.26.1051 1 LEFT REINFORCEMENT PLATE MONO2 S 235JR 22,13

EXISTANT 57.26.1050 1 REINFORCEMENT PLATE S 235JR 22,13
57.26.1049 4 SPRING STOP WASHER X2CrNi19-11 0.3685
57.26.1048 4 THICKNESS WASHER X2CrNiMo19-11(304L) 0.0625
57.26.1047 4 THREADED ROD M16 L:420 S235 JR 0.6765
57.26.1046 1 SWITCHES SUPPORT AW-2017 A 0.0698
57.26.1045 1 GRANITE TABLE GRANITE 523,
57.26.1020 4 SPRING STOP AW-2017 A 0,

APPD.DRND.DATE A2  

BM25 UPGRADE
BM25 MONO-1/MONO-2 ASSY

MONO-2 TRANSLATION ASSEMBLY 

HEYMAN 20/08/2019
 

 
 

57.26.1000
57.26.1002Modifications selon réunion ESRFA 10/07/2007 HEYMAN

 500

 

1 2 3 4 5 6 7 8

87654321

A

B

C

D

E

F F

E

D

C

B

A

SolidWorks
MOD DESCRIPTION

APPD.
CKD.
DRN.

DATENAME
0mm

ISO STANDARD

ASSY.

SCALE:1:10

Spanish CRG Beamline
AT EUROPEAN SYNCHROTRON

BP 220 38043 GRENOBLE CEDEX-FRANCE
Comisión Interministerial de Ciencia y Tecnología CICYT

Cl. Rosario Pino 14-16  28020 MADRID - ESPAÑA

:
:
:  

 
 GEN. LINEAR TOL.

GEN. SURFACE FINISH  

GEN. ANGULAR TOL.  


	Sheet1
	Vue de mise en plan1
	Vue de mise en plan2
	Vue en coupe A-A
	Vue de mise en plan4
	Vue de mise en plan5
	Vue de mise en plan8


